Chapter 2 Review
Name _____________________________

Math 90, Elementary Algebra

1.  Translate the following into a mathematical equation.

a)  Six more than a number is equal to three times the number.

b)  Five less than twice a number is fifteen.
2.  Solve each equation:
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3.
If 3 is added to a number and this sum is doubled, the result is 2 more than the number.  What is the number?

4.
The perimeter of a triangle measures 80 meters.  Two of the sides have the same measure and the third side is 10 meters more than three times the other sides.  Find all three sides of the triangle.
5.  Find two consecutive integers whose sum is 107.

6.  What percent of 450 is 126?   

7.  24 is 20% of what number?

8.  After a 25% reduction, a picnic table is on sale for $102.  What was the regular price?
9.  Solve the formula for r:   
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10.  Solve each inequality.  Write the solution set in set-builder & interval notations and graph it.
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11.
To cater a party, Phil’s Barbecue charges a $150 setup fee plus $15 per person.  The cost of the Kai’s graduation party cannot exceed $1000.  How many people can attend? 

Answers:

1.  a)   
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2.  
a.  
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b. x= -4
c. {No Solution}

d. 
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g. {All real numbers} or infinite solutions
h. 
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3. The number is 
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4.  The measure of two sides is 14 m and the third side is 52 m.
5.  The two integers are 53 and 54
6.  28%

7.  120

8.  $136

9.  
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11. No more than 56 people.
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